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1. An amount of Rs.1,00,000 for raw materials is to be paid after 3 months.  This is an example of 

a) Conversion cost

b) Joint cost

c) Programmed cost

d) Future cost

e) None of the above.

2.
The cost of a special device that is necessary if a special order is accepted is a 

a.
Sunk cost

b. Committed cost

c. Relevant cost

d. Prime cost

e. Discretionary cost.

3.
A fixed cost that would be considered a direct cost is

a.
The cost of power when the cost object is the internal audit department
b.
Board of directors’ fees when the cost object is the marketing department

c.
A cost accountant’s salary when the cost object is a unit of product

d.
A production supervisor’s salary when the cost object is the production department

e.
The rental cost of a warehouse to store inventory when the cost object is the purchasing department.

4.
Which of the following is not an example of discretionary fixed costs?

f. Advertising costs

g. Development expenses

h. Charitable and political donations

i. Supervisory salaries

j. Sales promotion costs

5.
The advertising expenditure incurred for the introduction of a new product is 

k. Conversion cost

l. Discretionary cost

m. Committed cost

n. Sunk cost

o. Opportunity cost.

6.
Which of the following costs is considered for decision making program?

a.Sunk cost.

b.Out of pocket cost.

c.Discretionary cost.

d.Committed cost.

e.Unavoidable fixed cost.

7.
 Conversion cost is equal to the total of 

a.Material cost and direct wages

b.Material cost and factory overheads 
c.Material cost and indirect wages
d.Material cost plus direct and indirect wages

e.Direct wages and factory overheads.

8.     The costs that result in appropriation due to the policies of the top management are called

a.Future costs

b.Avoidable costs

c.Unavoidable costs

d.Programmed costs

e.Discretionary costs.

9.     The opportunity cost of making a component part in a factory with no excess capacity is the

a.Variable manufacturing cost of the component

b.Cost of the production given up in order to manufacture the component

c.Net benefit given up from the best alternative use of the capacity

d.Total manufacturing cost of the component

e.Fixed manufacturing cost of the component.
    10.
 From behaviour point of view cost can be classified as

a. Prime Cost, Factory Cost, Cost of goods sold

b. Fixed cost, Semi Variable cost, Variable cost

c. Sunk Cost, Present cost, Future cost

d. Relevant Cost, Variable cost, opportunity cost

    11.
Job costing is a costing technique and standard costing is a costing method

a.  True

b. False

12.   In a cost equation , profit has no role to play.
a. True

b. False

    13.   Distinguish among  Prime cost, Cost of manufacturing and Cost of sales

     14.
Briefly explain the concepts of  cost centre, profit centre, investment centre and bring out the distinction among them.
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